7]
@ 45=32x5 © 28=22x7
© 150 =2x32x7 ® 512 =2°
@ 72=2%2x33 ® 96 =2°x3

® 6,060 @ 0066 ()06
® 00,66 ® 6.6,0.0

® 150 = 2 x 3 x 52
@ 72 = 23 x 32




2. AYF 3 x5 x T o] ofo] AgTE 120 oIt o, a of 27

@1 @ 2 @3 @ 4 ® 5

(a+1)4+1)(5+1) =120
a+1=4
La=3




3. 16, 42, 54 9] FAFuE?

© 2x3 @ 2°x3 ® 2x3x7
@ 2°x3° @24x33x7

16=2%,42=2x3x7,54=2x3% o]BZ
HAFHSE 24 x 33 x 7 o[t}




D 18 @ 36 B3 54 @ 72 @90

T Ao FHleE Hagulao] via-E Fehd ",
old F Ao HaguleT7t 18 o|BER A, B O] FHl=
36, 54, 72, 90--- ©]t}.
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@ 2 OF ® 4 @ 5 ® 6

Txx, 4xx=22xx, 10xx = 2x5xx 9 HaFgujsE=
22 x 5 X 7Tx x = 420

WA x =3 olt},
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, 3, =15

10 94
37 4’5

0, -2
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e 25T
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Argstel Lrehil 2 % 4 9 A2

O aesEtdIAYZH =5<a
@brE-3EGAAYG T = b<-3

® ce2H} A5 B A At = 2<c<5h
@ d=2 &35 0|5ttt = 2<d<5

@)e = 150} A7) g 3ulRrolT = 1<e<3

=1 Xt AR gy 3 ndtolth = 1<e<3




= 24 A, B7FQlth A 2 B 2 UEE o] Hol 8, |7}
7ol9th A 5 2 2 RS mlo] Y1)

0 @1 ® 2 @ 3 G 4

A=8xB+7=2xbx4+2x3+1 022 YmHZ2|E= 1 o|t},




1014 100717 2] AQA5E Theat Zo] A4 A Aol 54 Fol
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(15 27 3)7 (27 3a 4)5 (37 47 5)a Ty (987 99a 100)

wl, Al 40 gho] 21 9] uj4Q) A W 9 F8elx] Fohu?

@ 12 @ 13 3®)14 @ 15 ® 16

B

HAEot= Al 7He A&

(a-1, a, a+1)(2<a<99)2t 54,
(a=1)+ (a) + (a+1) =(21 9] 8i=)

= 3a = (219 H})

=a= (79 ")

©2<a<99Y 1, 72 vjE= 1474




10.

x=

P

DO x=2,y=3 @ x=23y=3
® x=23,y=35 @x:2,3, y=3,7

® x=3,4,y=3,8

108 o] A1o]al | y&= 1479 AA,d o, x,y0] S 5T

108 =22x33,147=3x T2 o]B &
x=2,3,y=3,7 0|t}
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@ 360 @ 480 ® 540

@ 300

@240

AXB=LxGOo|BEZ
1440 = L x 6 ©]t}.
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5= 67Ho]tt.
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© x<0 Y, x o dHzk
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O 74

@ 674

® 57

2 7|17}

@4 il

® 374

x=-1,0,1, 29 47




15. A 3HEHGg7ES0]1BE1HG3Z2 Ay, = HA B
Oﬂfﬂ ze 7%E]°ﬂ %@% ofefj =24 of|A] ZFOH?
—3—2 —1 0 1 2 3
® -2 @ -1 ® 0 @)1 ® 2
A=-34+7=4,B=1-3=-2
TE1

4 &} -2 oA &2 A2 A=




